Al

IS =TY ZAE4

(29f) (201849 11€)

-/ o = — /M
> N2 O40), 1120= 9F 6 ppb 24, OIMSKI(PMy) 22 sg/m, Z0IMSIX
(PMas) 13 48/, OFELAIIA 1 ppb, OIAISIEIA 9 ppb, AISIELA 0.2
oom ZOKHCH E2 39 == GHIZS OIMIPIKI(PMo) 9 4/m, ZOIHIPIX)
(PMs) 3 /1, OIAIBIEIA 8 ppb Z01, OFEHADIASL OF, AMBIEIAE SCI}
2004CH
[2 1] 22t BDIQSE &ie
OlHISH Xl |Z=0IMEX - — - =
szms | (Wg | (W MSGR0ENEL © = adses
(ug/m) (ug/m) pp pp pp ppm
o — 100/ 35/ 150/)87\_" 100/éj\_|' 100/ Al 2+ 25/ A2+
2AIIE 50/F | /B %%//f_lq 63%//% e R E
XB(2018% 108)| 33 16 4 26 22 0.5
= = | 55(50) | 29 5 35 16 0.7
20184 5 =g 112)0/) 193 % | 25 % | 117 % | 27 % | 8 %
11% sy o] (o] (o] (o] (o] (o]
CH=C | 39(38) | 22 5 24 26 0.5
53170 118 B2 46 26 5 07 16 0.7
AEE SREZ (112) 46(44) | 25 6 23 28 0.5
% 25 0o 2xl= A AIG
> DIMIZIXI(PMo) SERSIS 45(2A) ~ 68(AIB) ug/m, BRSTS 55 mg/m 2
SAIIZ(50 4g/m)O 110 % 4%, NAER= =7, €7, H=7 [0
=2 BMOIQD YEE, LD, AT SHAN AUECR we HO|YCH
(a2 1, a 2].
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2] &2+ DIMEHX HS0I
CEH WISFYLe BERFsE 2420, ME(20184F 108€) OHl 2= 5
ppb 24, OIAIZHXI(PMy) 28 wg/m', =0IMHXI(PM2s) 15 wg/m', Ol &tE}
& 9 ppb, LASELA 0.1 ppm SO, OrEMIIAE=E s&IF Z2ULCH =2
38 S8 UHIZ2= OFEAMIIA 1 ppb 24, OIMSXI(PMyg) 21 wg/m',
ZOIMHKI(PMos) 8 ug/m', OIAHSHEIA 8 ppb, LAHSHEFA 0.1 ppm SIt,

E2 sTIt 2 UL
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» PMys= 25 wg/m (A3, &Het) ~ 37 wg/m(dlg)l =& HAZAN, 82
29 mg/m =EL2 M HH| 13 wg/m SOtAULCE PM2s/PMyg 282 BT
53 % =F22 ME48 %) 2O+ LULCH. S, |, O& 52 20|
=gq0 Heh, A, 28 S2 22 8. AESEA0AM 11E0 XAkt
PMs L Ol2 & EAEES FdHle B4 d2i 24, 225 012,
MO HIZ0 =US. 8M dEs% 0l et HELd=E2 FdE:
Hl= OC 28.8 % > NOs~ 27.1 % > NH," 19.9 % > SO, 10.6 % >

EC 85 % 52 =0IUS.
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P 2 0I2BE %P, NRI YUH 22 ~ 72, 92 ~ 1Y, 13Y ~
162, 192, 242 ~ 300 Stots BISIE ROIYCH 8S L AL AE
A =2 0121 ErA2l 20l BASLH ZIIUCH APAEUAM OCE
Z422 22 O = UELE 28(E 2].

(2 2] N2TH ADIO 02 AXASE M5 (Er51 : pg/m)

T2 | Na* | NHs | K'Y | Mg? | Ca®*| CI” | NOs | SO | EC | OC | PMzs

ot2 [ 02 400001040657 ]24]21]72]081

st [ 02 8800 01]03]08][11.4]36]35]106]59.1

oie [ 0283|0001 ]06]1.0][112]43]32] 096405

JlEt[ 02 [ 39 00|01 |04]05]55]24]18]69]283

2|02 [56]00 01 ]04]07]76][30]24]81]372
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> 118 S35 S22, =2 F=2E=2 PbE 0.0389 m/m =2 BHIE
(0.5 wg/m) OILHR L, RAHS==2 CdT 0.0009 wg/m = WHORAIIIE
(0.005 wg/m-H) OILHACH. Fe 0.7749 wg/m, Mn 0.0344 ug/m, Cu
0.0247 pg/m, As 0.0071 wg/m, Cr 0.0060 ug/m, Ni 0.0048 ug/m ==
O LEtED, EAIIF =2 Ca 0.6465 wg/m', Al 0.3994 ug/m’,
Mg 0.1283 mg/m &=2=2 ZAE/[S[HE 3].

[ 3] 118 &35 S83210 (Sl ug/m)

7= PMio| Po | Cd | Cr | Cu | Fe | Mn | Ni | As | Al | Ca | Mg | Be
118 | 53 |0.0389/0.0009/0.0060(0.0247|0.7749(0.0344/0.0048/0.0071/0.399410.6465(0.1283| 0.0000
2018
108 | 26 10.0153/0.0004:0.0030/0.0150|0.4529/0.0171(0.0025/0.0029/0.2440/0.390010. 1094/ 0.0000
5017 112 | 52 10.0346/0.001210.004710.0271|0.7524/0.034710.0052/0.0026/0.3207|1.0642/0.1701]0.0000
oIER | 48 |0.0221/0.0007|0.0030/0.017410.5852/0.0265|0.004010.0034/0.3209/0.9007|0.1733| 0.0000
b 118 I XY XN&EYE pH=E |AY 4.8, 38 & A3 4.9, & 5.0, Sl
51 2 ZAL/UAS. T8t 118 AAXY MM 2RI5 B2 pHeE 49 2
Ad2(20184 108) ¥ MUE S2(201749 11€) HZ pH 5.1 BCF &2t
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